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DOODLEEDE® DOODEEDE®® DOBOD®EEDE®
(IE fir iR E2E mooode M HDCP | NET 1t = JIE A7 B 4 (i | A = GROSS| HDCP
B W5l EE 44 .6 344/ SINL | ARKF oAl 47 ‘ 47 | 9.6 A
YEMES  m 42 .2 34.8 ¥ b2 | EWEF  IEE 47 47 1 9.6 A
| B EE 48 .2 | 34.8/H SRIVAR=<It R ES 47 | 47| 9.6 4
AN | B Lk 48 .2 | 34.8/H BANL | FTH 47 47 | 9.6 !
SAL I HE FEE 41 .0 | 35.0H S50 | LA v 47 ‘ 47 | 9.6 .4
607 | Ryt P 52 .8 ] 35. 2| 560 | FAFrAk AT Hhdk 53 53 | 15.6 4
AL | Ligs & 52 .8 35.2|H S5TAL | AT R 53 : 53 | 15.6 4
SAL | Mtk B 44 .4 | 35.6H 5847 | B 40 40 | 2.4 .6
N | thig i 44 .4 35.6|H SINE | #2 /T A 46 : 46 | 8.4 .6
1007 | /hbk e 43 .2 | 35.8|H 600Z | k)1 % 46 46 | 8.4 .6 TRE
IREvAR VI SIE:! 49 .2 | 35.8 6107 | BRI 46 1 46 | 8.4 .6
1237 | il e — 42 .0 36.0 6207 | &R0 M 46 46 | 8.4 .6
13 | B94m yBRH 48 .0 36.0 6307 | P % 46 46 | 8.4 .6
1407 | &R 58 47 .8 36.2 6ANL | FEA Hr— 46 46 | 8.4 .6
1507 | ¥ AR 47 .8 36.2 6507 | LB [EA 52 52 | 14.4 .6
1607 | B HE 47 .8 36.2 6607 | o EHE 45 : 45 | 7.2 .8
L7h7 | R R, RS 53 .81 36.2 6707 | Bm g 45 45 | 7.2 .8
18\ | 1E/K  TE4 40 - .6 | 36.4 68\ | Ak B 51 : 51 [13.2 .8
1907 | A3 & 46 .6 | 36.4 6L | — Ak BF 51 51 [13.2 .8
207 | 7% ALEA 46 .6 | 36.4|FE 7007 | k& 1ESC 38 38 | 0.0 L0 TRE
2107 | HAR  HEJR 52 .6 | 36.4 TING | PE R BRiEE 44 3 44 | 6.0 .0
2207 | HEAT SR 39 .4 | 36.6 207 |3+ BL= 44 44 | 6.0 .0
2300 | I B 45 .41 36.6 T SRR IEHR 44 44 | 6.0 .0
2407 | LA FREE 51 .4 36.6 TN | KERRE  ZRIA 44 : 44 | 6.0 .0
2507 | R JE R 38 .2 ] 36.8 1507 s A 50 ‘ 50 | 12.0 .0
2607 | KJE fiE 38 .2 ] 36.8 60 | ZEA fid— 50 | 50 | 12.0 .0
27hL | /NiE B 44 .2 36.8 (VAR (TS 50 50 | 12.0 .0
28 | e EET : 50 .2 | 36.8 T8AL | =iR A 50 : 50 | 12.0 .0
2007 | & (P 50 .2 36.8 TN | RSt Il 56 56 | 18.0 .0
3007 | Bz T-HH 50 .2 | 36.89E 8OO | &M &k 56 : 56 | 18.0 L0 TRE
SN | &M FA 50 .21 36.8 817 | & 2%5L 58 58 120.0 .0
20 | AAFE EACHE 43 .0 37.0 82/ | AT & 43 43 | 4.8 .2
ML | &2oh 49 .0 | 37.0 83fL | BFH T 43 43 | 4.8 .2
M £ Wb 49 .0 37.0 BANL | Ak TRAE 49 : 49 110.8 .2
350 | £y (SHE 49 .0 37.0 8547 | 49 49 | 10.8 .2
360 | EAR B 49 .0 | 37.0 86 |2 A (Rl 49 49 | 10.8 .2
STAL | -l EHA 49 .0 37.0 8ThL | B WL 49 49 | 10.8 .2
38| i HIF 49 .0 ] 37.0 88 | fHIl  S/A 49 49 110.8 .2
RIS VAL NI =) 49 .0 37.0 8O | AT ARk 55 55 | 16.8 .2
4ONT | A SHEdR 55 .0 | 37.09RE 9007 | )1l EER 42 42 | 3.6 A TE
A7 | Fil - 57 .0 | 37.0 9Ifr | RE  FIA 42 42 | 3.6 4
207 | 1A EBRE 42 .8 37.2 920 | RIS FH 48 : 48 | 9.6 4
430 | )ITE 1 42 .8 37.2 93N | EH BT 48 48 | 9.6 A
44060 | HJIL BT 42 .8 37.2 9L | A EHFE 48 48 | 9.6 4
4507 | - KA 42 .8 37.2 9507 B ERT . b4 54 |15.6 4
4607 | MR Tk 48 .8 37.2 96N | BEd  vE 54 | 54 | 15.6 4
AT | TiE 48 .8 37.2 9ThL | B H: F A - b4 54 | 15.6 4
4807 | R KB 48 .81 37.2 98N | KEA  AK 54 54 | 15.6 4
49067 | T & 41 .6 | 37.4 N | EAR  FHE 47 : 47 | 8.4 .6
| 507 | L& 41 .6 | 37.4 RE 10047 | A b #li7- 47 47 | 8.4 .6 i%?
N
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DO@DEG®DR®® DOB@DEG®DR®® DOB@DEG®DR®®
(IE fir iR E2E mooode M HDCP | NET 1t = JIE {7 B 4 (i | A = GROSS| HDCP | NET i =
1010 | +% =] 53 .4 38.6 1510 | 5 Bl 51 ‘ 51 |10.8 | 40.2
10207 | &5H  §E 53 .4 38.6 15207 | FEEA 51 ; 51 | 10.8 | 40.2
103fZ | J\H  Z8& 46 .2 38.8 1630\ | A FEBL 57 57 116.8 | 40.2
L0447 | Az 3 - 46 .2 38.8 1547 |48 R= 57 57 116.8 | 40.2
10507 | EikE ‘- 46 .2 38.8 1550 | A BHA 57 57 | 16.8 | 40.2
1064 | & 3% 3 46 .2 38.8 15607 | %% 44 44 | 3.6 | 40.4
10747 | FnH - #i+- 52 .2 ] 38.8 I5THL |y TRk 50 3 50 | 9.6 | 40.4
10847 | EEFI|  &Bh 52 .21 38.8 15807 | &fE  FEEA 50 50 | 9.6 | 40.4
10907 | BhA  BEEZ 52 .2 ] 38.8 15907 | PE L fidt 50 50 | 9.6 | 40.4
11067 | +3  sakd 52 .2 | 38.89RE 16007 | H 2 ¥EFn 50 50 | 9.6 | 40.4 FRE
LI | /NS el 58 .2 ] 38.8 1610\ | Hrith B, 50 : 50 | 9.6 | 40.4
1127 | B8 HT 45 .0 39.0 1620 | A% EEH 50 50 | 9.6 40.4
LIS | Hept JdfE— 51 .0 39.0 163 | KM HEA 56 : 56 | 15.6 | 40.4
L1407 | B di1- 57 .0 39.0 16407 | [XIAH - -1 56 : 56 | 15.6 | 40.4
LI5(Z | Va7 IEFE 57 .0] 39.0 16507 | FiH am 56 56 | 15.6 | 40.4
11647 | | fiE+- 59 .0 39.0 16607 | B 3, 56 56 | 15.6 | 40.4
LI70L | B &= B 44 .81 39.2 1670 | K& E 49 49 | 8.4 | 40.6
L8 | &8 &h— 50 .81 39.2 1687 | & 1TH 49 49 | 8.4 | 40.6
11907 | kT B 50 .81 39.2 1690V | 8 /A — 49 49 | 8.4 40.6
12007 | ¥t S&ik 50 .8 ] 39.2 RE L7067 | ES  FAT 55 55 | 14.4 | 40.6 |TRE
121467 | A F A# : 50 .81 39.2 L7I0L | FsR TR 55 55 | 14.4 | 40.6
1220 | th ik HR1- 56 .8 39.2 L7207 | Hh JfEsE 48 48 | 7.2 | 40.8
12307 | 7)1 HEfR . 56 .81 39.2 17307 | RiTH £ 48 1 48 | 7.2 ] 40.8
1240 | 8 72 56 .81 39.2 1740 | Rl - 48 ; 48 | 7.2 | 40.8
12507 | Eie 5k 43 3.6 | 39.4 1750/ | HEE B 54 54 | 13.2 | 40.8
12647 | K¢ 49 9.6 | 39.4 17647 | HFE.  f&RER 54 54 |13.2 | 40.8
12707 | 7K IR 49 9.6 | 39.4 1770 | B SO+ 59 3 59 | 18.0 | 41.0
1280 | A B 49 9.6 | 39.4 1780L | A A% 61 61 120.0 | 41.0
12907 | KiE Wik 55 15.6 | 39.4 17907 | VEH EAE 61 : 61 120.0 | 41.0
1307 | &2 b L 48 8.4 | 39.6|TRE 180, | B2 A B&5L 61 61 [20.0 | 41.0 7RE
13147 | 5N BN 48 8.4 39.6 18I0 (A& i 52 52 110.8 | 41.2
1320 | |HH PR 54 14.4 | 39.6 18247 | B fid 52 52 | 10.8 | 41.2
1330 | e B 54 14.4 | 39.6 183 | Kl  FFn 52 52 110.8 | 41.2
1347 | 3+ JnhE 47 7.2 39.8 18447 | AT BEAT 52 : 52 110.8 | 41.2
1350\ | KIg  FEE 47 7.2 1 39.8 1850 | M [ 52 52 110.8 | 41.2
13607 | Ak o= 47 7.2 39.8 1860 | =k FF 1 58 58 [ 16.8 | 41.2
1370 | RS S 53 13.2 | 39.8 1877 | A& Bk 51 51| 9.6 | 41.4
1381 | ¥ EE- 53 13.2 | 39.8 1881\ | A1l HERE 51 ; 51| 9.6 | 41.4
13907 | AN EH 53 13.2 | 39.8 189 | iRk HE 51 51| 9.6 | 41.4
14007 | Ki%E k1 59 19.2 | 39.8|9KY 19007 | =FF  #—HD 51 : 51| 9.6 41.4 RE
407 | S I : 59 19.2 | 39.8 1910 | B 7 57 57 | 15.6 | 41.4
14247 | 5 = 46 6.0 | 40.0 19207 | R4l AR 57 57 | 15.6 | 41.4
14307 | NH 15— 46 6.0 | 40.0 19307 |/ &2 57 57 [15.6 | 41.4
14447 | F1L BEZ 46 6.0 | 40.0 19440 | BB VB 56 56 | 14.4 | 41.6
14507 | R & 52 12.0 | 40.0 1950 | i 1B 55 55 113.2 | 41.8
14607 | g =% 60 20.0 | 40.0 1960 | M B+ 61 61 [19.2 | 41.8
14707 | dbH B 51 10.8 | 40.2 1977 | #hH B 61 : 61 119.2 | 41.8
14807 | Il | % 51 10.8 | 40.2 1980 | &fE  1EA 48 48 | 6.0 | 42.0
L4907 | I 51 10.8 | 40.2 19907 | dbjE F— 48 : 48 | 6.0 | 42.0
| 150f7 | WBF B 51 10.8 | 40.2 RE 20007 | EH JE 54 54 112.0 | 42.0 FRE
Ky N —2 57
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DOODLEEDE® DOODEEDE®® DOBOD®EEDE®
(g fr A4 wooodh M GROSS| HDCP | NET A JIE A7 BB A4 (R R - GROSS| HDCP | NET s =
20102 | AT £H 60 60 | 18.0 | 42.0 ‘
20207 | {ERE  BME : 60 60 | 18.0 | 42.0
20307 | AfE BT 62 62 120.0 | 42.0
20407 | FELAYY S ER 53 53 110.8 | 42.2
20507 | FEF & 53 53 110.8 | 42.2
206 | =W FA 59 59 | 16.8 | 42.2
2070 | MhH R 58 58 | 15.6 | 42.4
2080\ | Iy EH T 58 58 | 15.6 | 42.4
2090 | ‘®l 57 57 |14.4 | 42.6
21007 | Ik wrid 57 57 114.4 | 42.6
211407 | H+ 1 HERS 56 56 | 13.2 | 42.8
21207 | FHE  HEZ 56 56 | 13.2 | 42.8
21307 | FHIR H:—ER 56 56 | 13.2 | 42.8
214ANL | fofFHAR A fHE 62 62 [19.2 | 42.8
21507 | K¥E e+ 62 62 119.2 | 42.8
21607 | KHL A 49 49 | 6.0 | 43.0
21707 | B8 fEA 55 55 |12.0 | 43.0
21807 | FF F &8 55 55 112.0 | 43.0
21907 | . i 55 55 112.0 | 43.0
22007 | {le A 55 55 |12.0 | 43.0
AV AR s T = 61 61 | 18.0 | 43.0
22207 | [l (& — 61 61 |18.0 | 43.0
22307 | K b BEFE 63 63 [20.0 | 43.0
22407 | 5 EF  T-= 54 54 110.8 | 43.2
2260 | BEIF  VEAT 54 54 1 10.8 | 43.2
22607 | FE¥% 60 60 | 16.8 | 43.2
22707 | H T HKER 3 53 53 | 9.6 | 43.4
228\ | EH %= 53 53 | 9.6 | 43.4
2200 | /NHER EER 52 52 | 8.4 | 43.6
23007 | HF | ffi - 51 51 | 7.2 | 43.8
23147 | A HE- 51 51 | 7.2 | 43.8
23207 | {4 61 61 | 16.8 | 44.2
23307 | KB HUOE 54 54 | 9.6 | 44.4
23407 | K FH ‘ 58 58 | 13.2 | 44.8
23507 | ] e 57 57 |12.0 | 45.0
23607 | InH: e+ 57 57 |12.0 | 45.0
237ThE | R HEE : 65 65 20.0 | 45.0
238\ | FKTE 56 56 | 10.8 | 45.2
23907 | dbwi HEA : 49 49 | 3.6 | 45.4
2400 | O R, fh— 61 61 | 15.6 | 45.4
24147 | db EE 65 65 | 19.2 | 45.8
2427 | IEHY 22 Mk 55 55 | 8.4 | 46.6
2430 | % EWT 67 67 120.0 | 47.0
24407 | skt EIRT- 67 67 120.0 | 47.0
24507 | PEIL B 68 68 120.0 | 48.0
24607 | IRA  ET 69 69 [20.0 | 49.0
247L | et T — 69 69 |20.0 | 49.0
2480 | B HE 66 66 | 15.6 | 50.4
24907 | A FET 72 72 120.0 | 52.0
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